GENUINE ACCESSORIES

G OBI Intelligent Designs 2000 Corp.

Denver, Colorado 80211
RALKS wuw. GOBIRACKS.com

GOBI HUMMER H1 ROOF RACK
INSTALLATION INSTRUCTIONS

Cuidelines:

When using Load Carriers and Accessories, the user must understand the precautions. The points listed helow
will agsist wou i using the rack foarrier system and will encourage safety.

# For quality fits and safty, use only the recommended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaining new accessories. Use only approved accessories on load catriers.
Uzing other brands will woid your watrenty.

¢ Mlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tishtened and locked before every trip.
Enobz, bolts, screws, straps, and locks must be pertodically inspected for signs of weat, corrosion, and fatigue.
Check your load at stops during the trip to insure continued fasterming securty.

# Checklocal and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
widih and height of your cargo since low clearance branches, bridges, and parking garages can affect the load
A1l cargo will affect the welicle's ditving behavior. Hever dive with any lock, know, or rack in an open ot
unlocked posttion.  Alllong loads such as, but not linated to sallboards, suthoards, kayaks, canoes, and
lumber rnast be Hed down front and rear to the bumpers or tow hooks, of the welicle.

# Bemove yout rack accessories when they are not in use, before inteting car washes, prior to talang in your
vehicle for service, and whenever clearance may be an 1ssue.

¢ Alllocks must be turned and moved periodically to insure smmooth operation. Use graphite or simnilar diy
labricant to help this. Locks are designed to deter vandalism and theft. Eemowve valuable gear if wouwr
vehicle is unattended for an extended period. Place at least onie key in the glove compartment.

# For safety to your wehicle and rack system, obey all posted speed limmits and traffic cautions. Adapt your
speed to the conditions of the road and the load being carned.

* Do not use load carniers and accessones for purposes other than those for whach they were designed. Do not
exceed their carrying capacity.

« Consult with your dealer if you have any questions regarding the operations and hrats of this product.
Eeview all mnstnactions carefially.

"PATENTS PENDING"

Installation Instructions for GOEI HUMMER Hi1 BOOF RACK Perrwo. (JHIT SHEET ] oF §




G OBI Intelligent Dezigns 2000 Corp.
CHS Denver, Colorado 30211
s wuw, GOBIREACKS. com

GENUINE ACCESSORIES

GOBIHUMMER H 1 ROOF RACK
INSTALLATION INSTRUCTIONS

Included in kit

Letter Description Location | Quantity
A OBl HUMIMER H1 EOOF EACEK Mam box 1
B FAIRINGRUBEER PROTECTIVE 3TRIF pre-asserbled 1
(i FAIRING banded to rack 1
D FAIRING BRACKETS (pre-assembled to fairing) pre-assemhled 4

FAIRIMNG BREACKET HARDWARE
F CONTENTS: 4 1/4-20x1 Button head screw 55 BAG #2 1
a- 114" Black Hylon flat washer Handwiare bk
417420 Zine Mylok nut
F OBl 3UPPORT BRACKETS Hardwrare Box 10
- DBl CROS3 BARS (5- """ Cross Bars wath No Tire carmer rack)| Separate Box 4
2 FOBI CROS3 BAR (G2 cross bar only for Tire carrier rack) Separate Box 1
GOBI 3UPPORT BRACKET HARDWARE
CONTENTS: 32 - 3/8-14x 1-1/4" stainless steel hex bolt BACG #13
H B2 - 3" stainless steel washer Hardwrare Box 1
30 - /8" Hylok lock nat
10 - rubber pad black
GOBI DEIVINGFOG LIGHT SPACER WASHER
BAG#4
I CONTENTS: 28- washer black zinc Hawhsare Bo 1
J Cross Bar lock nut Plate 1" x 5" x 3/8" Attached to 5
(Ol for Tire carvier rack) Zrogs Bar G2

J B 1§ B I ST
RANEEC J4 4

Installation Instructions for GOBI HUMMER Hi ROOF RACK rer1vo. GHIT SHEET 2} OF §




G OBI Intelligent Dezigns 2000 Corp.
CHS Denver, Colorado 30211
s wuw, GOBIREACKS. com

GENUINE ACCESSORIES

GOBI HUMMER H1 ROOF RACK
INSTALLATION INSTRUCTIONS

” E,
5 .i'..l'l.j-..-';-

L e AT
et e
- B g o S

wigd FLF ey
S A,

iJuter roof rack attachiment holes

Fig. 1

Installation Instructions for GOEI HUMMER Hi BOOF RACK PRRIND. GHIT SHEET % oOF




G OBI Intelligent Designs 2000 Coxp.

RACKS Denver, Colorado 30211

wuw, GOBIREACKS. com
GEHUINE ACCESSORIES

GOBIHUMMER H1 ROOF RACK
INSTALLATION INSTRUCTIONS

Inter Crogs bar attachiment holes

6
/ CUTER ROOF RACK

/ LTTACHMENT HOLES

Hunner Hl
roof litie rear

HUMMEE H1
FOOF LINE
Eoof
ROOF
GUTTER

Fig. 2

Humner H1 front toof line

. " q a2 G
p -"/ I'/ |/ \1 \ RDDF
i / ! [ 1‘~|?/‘-‘:47LITI"E:R
e e s
— 1o — — o — —zzor— 2200 -
. —
g e B
Fig. 3

Installation Instractions for GOBI HUMMER Hi1 ROOF RACE

parrwo. GGHIT sHEET 4 oF §




G OBI Intelligent Dezigns 2000 Corp.
Denver, Colorado 30211

RALCHKS wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBIHUMMER H1 ROOF RACK
INSTALLATION INSTRUCTIONS

The rack musf be inspecfed before each use fo make cerfain affachments are secure, and for evidence of

Waagr, Misuse of the rackor foilure fo obsgrve fhe manufacfurer s insrucfions as fo insfallafion, propar

A#fachmant and mainfenance Will void any warranfies af may be imnliad by Iaw.

1.
2. Plastic Bag laheled #2 remove contents and place hlack button head screw #3 thro black washer

Plastic Bag laheled #1 remmove contents and press nibber protective stip #1 on to hottora of fairing #2.

and then thr famng #2 as shown i Fig. 1 page 3. Place fanng onto bracket #4 and attach black washer,
lock washer and wing nut finger tight only. Attach all 4bhrackets but do not attach fairing to rack at this time.

3. Unpack the 5 cross bars "G"as shown in Fig 1 page 3 and spread all 5 cross bars on a flat level

sutface. Remove contents from Plastic Bag labeled "H" and attach support brackets "F" into the

etids of all 5 cross bars "G" as shownin Fig. 2 page 4. Attach only | bolt, washers and nut #4

Fiz. 1 page 3 and Fig. 2 page 4 found in Plastic Bag "H" into the cross bar "G" ends matked "Inner
Cross bar attachement holes" finger tighten only at this time. The outer two sets of holes located at the
etud of cross bars "G marked "Outer roof rack attachment holes" Fig. 2 page 4 will be used to attach
the rack to the cross bars at a later time,

4. With all support brackets "F" attached to cross bars "G" begin to straddle each cross bar over

the roof top of the vehicle and rest each bracket "F" into the roof guiters as shown in Fig 2 and

Fig. 3paged. Place the first cross bar "G3" 7" from the rear of the vehicle's roof line as shown in Fig 2
atid Fiz 3 page 4. Add Cross bar marked G2 to the second position as shown in Fiz 2 and Fig. 3 page 4.
Contire to add each cross bar "G" towards the front of the vehicle separated by the dimensions

showt in Fig 3 page 4. Once all 5 cross bars "G" have been istalled begin to tighten clamps #10

ofi bracket "F" as shownin Fig 2 page 4. Prior to tighteming be sure all clamps #10 are corectly placed
under the vehicle gutter as shown m Fig 2 page 4. Statt by stiugging down carrage bolt #11

ot1 clatmp #10 Fiz. 2 to the point that the clamp has wery bttle wiggle but not completely tight. Now
begin to tighten the smaller carrage bolt #12 as shown in Fig, 2 which will pull clamp #10 upwrards
pitichitiz clamp #10 to the gutter of the vehicle, Only stz down all clamps and cross bars at this time.

. Place GOBI Hl Humimer roof rack "A" onthe top of all crozs bars "5 as shownin Fig. 1 page 3 and

Fig 3 page 4. Align welded in brackets #1353 of GOBI roof rack "A" as shown in Fig 1 page 3to cross

barg "G""Oluter roof rack attachment holes" shown in Fig | page 3 and Fig 2 page 4. After aligring

the roof rack to the cross bars "G" slip black rubber pad #% as shownin Fig. 1 page 3 between the roof
rack welded in bracket #13 and crogs bar "G" "Outer roof rack attachment holes". After all #2 pads found
i1 Plastic Bag "H" ate in place begin to insert and finger tighten all remaining bolts, washers and nuts

H#7 az shown in Fig 1 page 3 found in Plastic Bag "H".

When all bolts and nuats have been mstalled propetly secure the GOBI roofrack "A" to cross bars

"G and "G2" by completley tightening all bolts and nats of cross bars "G" and "52" to GOBI roof rack "A".
Once roof rack "A" is completley tightened and secured to cross bars "G" and "G2" and support brackets "F"
begin to tighten all clamps 10 of support bracket "F" as shown on Fig. 2 page 4 but do not over tighten
catrage bolts #12 as roof gutter may be damaged. After each clamp #1015 pulled up tightly by

catrage bolt #12 to roof gutter completely tighten down clamp #10 to support bracket "F" using both
catraze bolts #11. Complete the same procedure to all 10 support brackets "F".

Installation Instructions for GOBI HUMMER H1 ROOF RACK paptywo. GHIT SHEET & OF §




GENUINE ACCESSORIES

-

G OBI Intelligent Designs 2000 Coxp.

Denver, Colorado 30211
RALCHKS wuw. GOBIRACKS.com

GOBIHUMMER H1 ROOF RACK
INSTALLATION INSTRUCTIONS

INSTALLATION INSTROCTIONS CONT.

Flace the Faring #2 with attached brackets #4 to the hight bar #5 of the roof rack. Algn fainng brackets
#4 with the small Slots i the hght bar #5 Place the screws and washers thiu bracket #4 and thoa hight bar
#5 finger tighten using the washers and nuts supplied m Plastic Bag labeled #2  Tighten the center nut

atid bolt first then proceed to the sides. When tightening the side nuts and bolts pull the faring closer to the
roof rack to cause a curve to form in the fainng, I the famrng becomes distorted during the tightening
procedure you may need to mowve a bracket in or out or pivot right or left in order to pronde the fanng wath
a stooth surface appearance. If necessary fairing brackets may be bent in order to remove all
deformation. When mstallation of the fairing 1z complete the fairing must be tight against the vehicles roof
surface and free from distortion to prevent wind chatter,

If wour ORI roof rack 1z equipped wath a tire carrier remove the remaiming 2 holts and washers from plastic
Bag "H". Algn holt 6a throught roof rack bracket "K' and into cross bar lock nut plate "I" attached tocross
har "G2" az shown m Fig | page 3. Lock nut plate "J" can be moved to align with bracket "K" of roof rack

once aligned completely tishten bolt then continue the same procedure to the second bracket "K"and tighten
cotnpletely.

- Remmove the protective covering on the threaded studs of the tire carrier support plate #12 at this time. Place

the spare tire on top of the tire carrier support plate #14 malang sure the mner rim of the spare tire 13
contact with the tire carner support plate #12. Position the tire carrier support plate #12 approzmately 34" to
1" helow the inner spare tire rim surface while the tire 1s resting on the surface of the roof rack.  You will
have to lift the tire and turn the tire carrier support plate #12 clockwnse or counter cloclowrise a few times

i order to ackieve the desired distance 3/4" to 1" below the inner spare tire rirn. When the tire carrier #12

has been adusted properly mstall all lug nuts and tighten securely.  After the spare tire has been tightened
down cotnpletely the face of the tire i contact with the roof rack will form slightly around the roof rack
tubing this 1z normal and wall prevent the spare tire from mowving during transport.

Installation Instructions for GOBI HUMMER H1 ROOF RACK paptywo. GHIT SHEET p OF §




	Gobi H1 rack install page 1
	Gobi H1 rack install page 2
	Gobi H1 rack install page 3
	Gobi H1 rack install page 4
	Gobi H1 rack install page 5
	Gobi H1 rack install page 6

